RN6320 CIRCUIT EXPLANATION
FCC 1D : AAQB004257R
1) The RF. (Radio Frequency) inputted through The ANT., is passed to the Super-regenerative

receiver, formed by TR1, where the Action Signal is detected.
2) The Action Signal is decoded in the control IC1., and is sent to each output terminal.

3)TR2, 3,456 and 7 form the left side motor control circuit.
(3-1) Forward motion for motor of left side.
IC1..14P. (Pin) is turned on, and TR2, 4 and 7are tuned on to make a forward motion.
(3-2) Backward motion for motor of left side.

ICL..13P (Pn}) is turned on, and TR3, 5 and 6 are turmed on to make a backward motion.

4)TRS, 9,10,11,and 12 form the right side moter control circuit.
(4-1) Forward motion for motor of right side.
IC1..16P. (Pin) is turned on, and TR9, 11 and 12 are tuned on to make a forward motion.
(4-2) Backward motion for motor of right side.

IC1..15P. (Pin} is turned on, and TR8, 10 and 13 are turned on to make a backward motion,

5) Motion control circuit for turret

IC1.12P (Pin) is turned on, and TR15 and 16 are turned on to make a turret motion.

6) Sound and fire LED control circutt

(6-1) TR19 form audio amplifier for speaker.

(6-2) IC2 is outputting sound of idling to TR19 when receiving power via SW1.

(6-3) However, 1C2 output TR19 that sound of running when any of 13,14,15,16pin of
1C1 turned on.

{6-4) However, it action is as follows when 1pin of IC1 turned on
a) TR17 is turning on, then D16 (fire LED) and TR18 turn on.
b} TR18 is turning on, then IC2 output sound of shoot to TR19.
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